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% % %’ fk ﬁ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
2,705 x 10 = 3,806 x 10000 =
7,438 x 10 = 1,86 x 10000 =
4,888 x 100 = 1,438 x 10 =
7,633 x 10000 = 1,245 x 100 =
9,414 x 1000000 = 5,591 x 1000 =
1,994 x 10 = 8,611 x100=
5,397 x 10 = 5, 049 x 100000 =
4,192 x 10000 = 3,259 x 1000000 =
8,95 x 100000 = 1,601 x 10000 =
6,272 x 10000 = 8,286 x 1000000 =
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% % !ﬁ' ﬁ Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
2,705 x 10 =27.05 3,806 x 10000 = 38060
7,438 x 10 = 74.38 1,86 x 10000 = 18600
4, 888 x 100 = 488.8 1,438 x 10 = 14.38
7,633 x 10000 = 76330 1,245 x 100 = 124.5
9,414 x 1000000 = 9414000 5,591 x 1000 = 5591
1,994 x 10 = 19.94 8,611 x100=2861.1
5,397 x 10 = 53.97 5, 049 x 100000 = 504900
4,192 x 10000 = 41920 3,259 x 1000000 = 3259000
8,95 x 100000 = 895000 1,601 x 10000 = 16010
6,272 x 10000 = 62720 8,286 x 1000000 = 8286000
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